Probability of Multiple Events Happening Worksheet

For the questions 1-4, a card is drawn from a standard deck then replaced. After the deck is shuffled, another card is pulled. 

1. What is the probability that both cards pulled are aces (Ace and ace)?



2.  What is the probability that the first card drawn is a spade and the second card is a diamond?



3. What are the odds that the first card drawn is a King and the second card is not a King? 



4. What are the chances that the first card is a face card and the second card is red?



5. A card is pulled from a deck, what are the chances this card is Red or a Spade?



6. A box contains 3 medium t-shirts, 5 large t-shirts, and 4 extra-large t-shirts. If someone randomly chooses a t-shirt from the box, what are the chances this shirt is a large OR a medium?



7. [bookmark: _GoBack]From the same box (question above), what are the odds that the shirt picked is an extra large OR a large?


8. When rolling a die 3 times, what is the probability that you roll a 2, 4 and 6?



9. When rolling 2 dice, what is the probability you DON’T roll a 7 OR 8?



10. When rolling a die 2 times, what are the chances you roll a 1 both times?
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